
R5

R5

0+
33

9

0+
40

0

0+
50

0

0+
53

5

0+
33

9

0+
53

5

PO
CZ

Ą
TE

K
 O

PR
A
CO

W
A
NI

A
: 0

+3
39

.4
3

Po
cz

ąt
ek

 p
ro

j. 
od

ci
nk

a

PŁ
K
: 0

+4
45

.4
8

R=
25

.0
00

K
Ł
K
: 0

+4
55

.0
2

PŁ
K
: 0

+4
70

.3
7

R=
25

.0
00

K
Ł
K
: 0

+4
79

.8
6

K
ON

IE
C 

OP
RA

CO
W

A
NI

A
: 0

+5
34

.8
3

PK-1 km 0+339.43
X=5901320.5294
Y=7445548.2407

PK-2 km 0+524.22
X=5901282.4567
Y=7445727.7184

PK-3 km 0+534.83
X=5901279.7478
Y=7445737.9707

 W-1 km 0+450.31
X = 5901291.9917

Y = 7445655.3846
R = 25.0
L = 9.54

 Kąt zwrotu trasy= 24.29863gr
Styczna = 4.83
Sieczna = 0.46

W-2 km 0+475.17
X = 5901295.0165
Y = 7445680.1834
R = 25.0
L = 9.49
Kąt zwrotu trasy= 24.17211gr
Styczna = 4.80
Sieczna = 0.46
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0+000

0+036

0+000

0+036

POCZĄTEK OPRACOWANIA: 0+000.00

PŁK: 0+003.02

R=25.000

KŁK: 0+012.52

KONIEC OPRACOWANIA: 0+036.06

PK-5 km 0+036.06
X=5901329.6099
Y=7445681.7287

PK-4 km 0+000.00
X=5901294.4354
Y=7445675.4196

W-3 km 0+007.83
X = 5901302.2039
Y = 7445674.4720
R = 25.0
L = 9.51
Kąt zwrotu trasy= 24.20546gr
Styczna = 4.81
Sieczna = 0.46
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POCZĄTEK OPRACOWANIA: 0+000.00

PZ
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KONIEC OPRACOWANIA: 0+153.21

W-4 km 0+128.01
X=5901347.8810
Y=7445554.1404

PK-7 km 0+153.21
X=5901323.6014
Y=7445547.3920

PK-6 km 0+000.00
X=5901314.9348
Y=7445677.8429


